("’. 3 h
am,< Q A 1

Cs (P) Ex?

T T HATTH g THLIT GieaehT Gierd &) T HgT 10 77 7% 7 @
| jiamsh [T ey

2081929  afierr g

A g4
T94-ua - 11
T : 3 gue quries : 200
FIW

ﬁmm@ﬁ%mm,mmuﬂmgﬁwﬁmmmﬁ%wﬁaﬁéﬁmw,
2T AT LT FAT Y3 AT Ty19, A1fa 7 &1 | g ¥ B, A 3 wdt whveror gfteram & et o |
FOA A T 6 OMR Iw-wwe #, 3fera v w, et TR ik wherw gftret sww A, B, © @
D &, & A v o fanet o o framfa & st oiv Gemg v et sufrear @ 1
foreft oft warm <Y </ foremifar <t feafa & ser-ures v e Fora o |

39 it gfeqest W any # U e wsew § et s
rgshuTeh foramt & | e gferem w ok g 7 g |
W vl gt 4 80 s (ST e E | R v R ol oiieht A1 § Bw 2 | e
ST # AR e (I) o MU Ve F v g 1 g o, R oy I W s s S
& 1 3l smmyent TEn o fe ST HE F, T IW eI Bl 3ifhd H S ! wEEy o |
T JHIN % g T G R |

TR 3T Gt TR H fou T ST-wah W g sifthd w0 § | Iww § fRu e fidy 39
#FHT T 6 |
M@%mmm%ﬁﬁam%mwnﬁmﬁﬁmmw#, 3R YA
SHV-9H < 1Y ST S ATER F Rawor IR 2§ |

AT I Tt YT D IHTTF § WA % qE a9 T F GE W da7 Io5F e a @i
< | AR AT WIS T{EG0 gieh o T T Ay 2 |

= w1 % T v Them g % ofq § gem §

. TTeTd A & feru €2

Iuftgar gr 4w e et Wi % fore g2 fan s |

() mm%%qwémﬁmmﬁlwﬁzwmmm%ﬁmﬁqmwwam%ﬁmw%g
fra fopq o 37t 1 wn-faed 42 & w9 A @ s |

) I FE Infican o A Afrs I A R, A @ wEw IW AA O, F@l Ry T I § @ v s ad
B 8, R ft 39w & Rt swdftegem @, st ww w1 < R s |

(iii) aﬁmmﬁémmmﬁmmé,mmwmmmqﬁﬁmw%,a’twm%m
13 g8 TE o smom |

Wa T HTIH! T THLIVT GIAwT QieTd 1 7 FgT A0 77 7% T @ev

Note : English version of the instructions is printed on the back cover of this Booklet.
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fAfeifaa 4 (ar) goa79n & forg (3 :

719 7T T W 9Rk=sel #I 9iew 3K IR=sd & 9
37 T I F I Gl | 3T yen & forw
319 I FacT 37 IR=ec) W & IR 817 Ty |

ufess - 1

SMyshatedt ¥ 7 & Hiel (A-Afhe) 3k @
T A HG § FE HOW qUEE H
T 8 Hie w15e % e ellfha fFa | 52 A
ST THR F THW H @ T — TR
qifoifsys LED Y™l & §gY Yad T 3R
Hifean Hie ofui & Hg¥ U MW | 7R FA H
Sheft W — St F g § T b St ¥ R
QE % Fd 3 — 37 9w W diaagw i
T STe W T8 @1 T 6 3@ gsqur I B
& s, w1ferd BT 8 | JehIe 6 I % 3ard,
mﬁamﬁ@mm@ﬁ%wﬁ?ﬁ
(ﬁﬁx)ﬁmﬁ’ﬁ@ﬁa%

mm%m@mm.

T ¥ HH-ET HIH Rufas sy &

HEITH T & 9T @ 2

(a) 3= dioage. YA gan # e
foarges e H Ngl | At Ifaga
JHTE TSI |

(b) W YgEU 1 fepdt wiitfeufas dF
Trft ®9 ¥ yfoghet y9E g TRt ® |

() Wl % g0 & foIw 3= TN & e
qoT & v3d 1 1 TR S8 § |

@) Freft witfeufos o & Suge digar o
TR 7 had Wi & fou afess i &

o oft wawEgel 2 |

ufese - 2

wft g A 6 el § @ e
80 wfowrd # wrToT WIfOrt grn g ®, forad waht
I WAl ot wie §, fhg $ie ge
TR § | T 5 e S Seaw e iR
% Tg-ay fafqy v F @@ Ivesy =A%
fore seerft # | fova 6 Fu-d-n oo R
Hae W Wi € | o % faw wfeme
Taifyes guret ot 8 T = @t § off fies
wadl o fou ora wEwgel § | W uw v
e oaeen @ S dul ik el % =
wfed gagi @ giomm 2, 3t 30 4 foret it oft
HHt M BE & F S H A wifaa e
2| ot wEr % o qe wepfae aaeafa %
NHa NG FEEET IR B |

I ufteag & emuR W, frefafea gumomd

TS TS 8

1.  wrreRrl st & fafavar & o wma
& IS WEE H YRV 3T 9T
TR

2. JUM WEAl H THU FN, A F
nferea & fore smuss 2 |

3. Wipfas swfs & fodm v &= o
ORI Y caferes it B STt B |

4. e fafquar, dai § fafaar ardt 2

T R TR T 2
(a) ad 1

(b) had 2,334
(c) had 137 2
(d) had 334

(2-A)
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Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

Passage - 1

Researchers simulated street lighting on

artificial grassland plots containing pea-aphids,

sap-sucking insects, at night. These were exposed
to two different types of light — a white light
similar to newer commercial LED lights and an
amber light similar to sodium street lamps. The
low intensity amber light was shown to inhibit,
rather than induce, flowering in a wild plant of
the pea family which is a source of food for the
pea-aphids in grasslands. The number of aphids
was also significantly suppressed under the light
treatment due to the limited amount of food

N

available.

Which one of the followi @t tements best

reflects the most criti

ference that can

Passage - 2

Approximately 80 percent of all flowering
plant species are pollinated by animals, including.
birds and mammals, but the main pollinators are
insects. Pollination is responsible for providing
us with a wide variety of food, as well as many
plant-derived medicines. At least one-third of the
world’s  agricultural crops depend upon
pollination. Bees are the most dominant taxa
when it comes to pollination and they are crucial
to more than four hundred crops. Pollination is
an essential service that is the result of intricate
relationships between plants and animals, and
the reduction or 10ss of either affects the survival
of both, Effective pollination requires resources,

such as refuges of pristine natural vegetation.

On the basis of the passage given above, the

following assumptions have been made :

1 Sustainable production of India’s cereal

be made from the pag@e given above ?

(a) Low intensity light has more adverse

effect on the plants as compared to high

intensity light:

food grains is impossible without the

diversity of pollinating animals.

(b)

(c)

(d)

BXC-B-GYLI

Light pollution can have a permanent

adverse impact on an ecosystem.

White light is better for the flowering of
plants as compared to the light of other

colours.

Proper intensity of light in an ecosystem
is important not only for plants but for

animals too.

2. Monoculture of horticultural crops
hampers the survival of insects.

3. Pollinators become scarce in cultivated
areas devoid of natural vegetation.

4, Diversity in insects induces diversity of
plants.

Which of the above assumptions is/are

valid ?

(a) 1only

(b) 2,3 and 4 only
(¢) 1and2only
(d) 3and 4 only

(3-A)
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ufesg - 3

dfterrg it FwEd T W&
SeraTg Higd! 1 SN A §Y Saryg gREdT
¥ yuEl W fpT U steREm # ifrekan 3R
=a" a8 gig i gt ofit ant %
& e § w3 T | $9 Foar aREd
F T AT h TAT WhHI W IAE TL,
gRumreaEy 3fes AET § I 98 S 3R
Ja % e (fe) § wfosmef, qun
WoTel-& Tfed 2 | 38 Afdfed, U9 |
@1 Ued hl TREHaT # gig §S B | Wb B,
wH guH % fou e geEneE O RREE
# foftar ot 2 |

bl FHeaghmat s i
FETEEl X Aty e  #u fe
HHhar & |

(b)

FaT] TREdT ¥ ST GEIEH] 1 HEw el
2, wEfe g & @9 7 W e oft 5@
g1

Ve uRadd % wRo, feEml @
syrofr areifaeser e Sfgmyf
TTeh- T ST TS § |

(c)

(d)

4.

(4-A)

ufess - 4

weeRal FTeRei gy feediaia A (BPA)

% dfrenfadt (=Eeifeas) g9l 1 9ar @ *
e ®m HIRERIEAT H IET FE F T @
I8 WHa # ge@ Um, mydy I ufEdd
FqEEIaIst % fore frder 7 S A Aftes
BPA % WM & U YuH hI yia wA
HifERat % faveT & A Sia it TeEd
1 dtg & forg SagamEfE 3t sifew-snuia
YA % GAISE 1 I R | 9 S
IR TR A0 WS S Tl (S W) %
wd fafidem % e BPA anfawrgan (effFafadt)
T g1 T S G S, q97 dEw ITh
HIER gita FH § 7% R |

I TReRe % R w, el gdumond

CEIERIER

1. BPA, Shal ® (3 ofiar) yoftr fem =i
gfafdd = dehar 2 |

2. VN ¥ BN A WM ITER H @A
FW H JgEEfs 3 BifvE-Eia
TG T & |

3. TAlGwiE guRl % YHRfRATCHS SEl
H YA hH H fag yofm w®A
FIREH A % §9 § B F THhd! @ |

0tk # & - qEUROTE 7§ 2

Had 1 3R 2

Had 2 3N 3

Fad 1 3R 3

1,23 3

(a)
(b)
()
(d)
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Passage - 3

A study conducted on the impacts of
climate change over the Cauvery basin of
Tamil Nadu using regional climate models
showed an increasing trend for maximum
and minimum temperatures, and a decrease
in the number of rainy days. These climatic
shifts will have an impact on the hydrological
cycles in the region, lead to more run-off and
less recharge, and affect the groundwater
tables. Further, there has been an increase in
the frequency of droughts in the State. This
has driven farmers to increase dependency
on groundwater resources to secure their

crops.

Which one of the following t@ents best
reflects the crux of the pa&@e given above ?
N

‘(a)

Development o ional climate models

in @wosing

agricultural practices.

helps climate-smart

4.

Passage - 4

Researchers were able to use stem cells to
gauge the neurotoxic effects of the environmental
pollutant Bisphenol A (BPA). They used a
combination of biochemical and cell-based assays
to examine the gene expression profile during the
differentiation of mouse embryonic stem cells
upon treatment with BPA, a:compound known to
cause heart diseases, diabetes, and
developmental abnormalities in humans. They
were able to deteet and measure BPA toxicity

towards the proper specification of primary germ

layers, such as endoderm and ectoderm, and the

establishment of neural progenitor cells.

On the basis of the passage given above, the

following assumptions have been made :
] BPA may alter embryonic development

in vivo.
2. Biochemical and cell-based assays are

useful in finding out treatments for

pollution-induced diseases.

(b) Heavy dependence on groundwater
resources can-be reduced by adopting 3. Embryonic stem cells could serve as a
dry-land cropping systeris. model to evaluate the physiological
effects of environmental pollutants.
(©)  Climate changes increase the sriticality, Which of the above assumptions are valid ?
of water resources while simultaneously
threatening it. (@)  1and 2 only
(b) 2 and 3 only
(d) Climate changes cause the farmers to T
o
adopt unsustainable livelihoods and ¥ % !
risky coping strategies. (d 1,2and3
BXC-B-GYLI (5-A)
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Ife 32019 5y 10 | fawifom femam e, o == 9w
wm?

(a1
(b)) 3
{0); "7

d 9

HEAT 3798125P369 37 7H WISH & | 37 P
HE 18 2

(a) =1
(b)==6
()

d 9

S@Q

¥
1 wHad, 2021%3&@(2@&?@3“
Ted  (¥IC afa ) 80+01m B, &l
m=1,2,3,.., 1008 3N Teav=T 3= &l 2 |
81 el 3R, o 2021 Fnd feT e H I
(vqu wfd efiet #), n% fet ff 7@ & fog
69 +0-15n % | A 2021 < fore fafdr = 57 QAT

$1 T oI THEWH B ?
2173
207§
1978
1898

(a)

(b)

(c)

(d)

10.

(6-A)

Th FE Tpo H Sfafamm i wan 3 qEigEe
o fob agett it T smed wew 12 99
# gt & Smoft | R T smeReR % SigER
¥ 2021 % JRH H gy I @G 50 B |
Ife n aul % ggETE At FAEE H P A el
e s R, @ fafafes & & s=
THieRTu, HET T ST T SETE % [isA Hl
e w2 2

(@ P=12+50n

(b) P=50+12n

(c) P=50(2)2n

(d) ‘P=50212

s e #, 60% Taemell wia & 7 o fenfoRa
FT 50% AeHal 8 | afe wrd faeanfeda § 30%
aefrat &, (A faesht faanffat & fora witem
TASH 82
(a), 45%
(b)y 40%

) 30%
d 20%

s HeA 9 o mn 2, fres swim freeda

iR frsed-11 feu 7w & | MUl 3 HUF I TR

T §T SR S Al R, I @ T7

9 ¥ Fa q2di 1 gfE | T wdfa 7 & | adft

fspst @ e o deavE@ folm w6

FHET/ERA et ffu T e & sER

ThETE 2/, W & 9 gE ¥Y F FA aeA

fgEaam@as |

Fo7 : PO UeA, Wawa § | @t A,
W%I@W,E@%|

fresl . oo e Fftsa s =i € |

fsps11 : F© Hiesd fAfvea 9 @ 91 2 |

frafafad § @ Fa-a1 Tt 8 2

(a) “hadt Fshe-I

(b) hae fAsmd-II

(c) T 3fi fsepd-11 gt

@ 7 a fsed, = 8 feedn
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5. If 3201 is divided by 10, then what is the
remainder ?
(&)1
(b) 3
(o)1=
d 9

6. The number 3798125P369 is divisible by 7.
What is the value of the digit P ?
(a) 1
(b) 6
() T
@ 9 @@

S
%Q\Q

7. From January 1,&)21, the price of petrol
(in Rupees per litre) on mth day of the year is
80 + 0-1m, where m = 1,2, 3, ..., 100 and
thereafter remains  constant. On the other
hand, the price of diesel (in Rupees per litre)
on n'® day of 2021 is 69 + 0-15n for any n. On
which date in the year 2021 are the prices of
these two fuels equal ?
(a) 21%" May
(b) 20" May
(© 19 May
@ 18% May

BXC-B-GYLI

10.

(7—=A)

A biology class at high school predicted that a
local population of animals will double in size
every 12 years. The population at the
beginning of the year 2021 was estimated to
be 50 animals. If P represents the population
after n years, then which one of the following
equations represents the model of the class for
the population ?

(@) P=12+50n

(b) P=50+12n

(¢ P=50(2)!2n

(d) P=50(2)w12

In a class, 60%-of students are from India and
50% of the students are girls. If 30% of the
Indian ~students are girls, then what
percentage of foreign students are boys ?

(a). \45%

(b) »40%
& 30%
d 20%

A Statement followed by Conclusion-I and
Conclusion-II is given below. You have to take
the Statement to be true even if it seems to be
at variance from the commonly known facts.
Read all Conclusions and then decide which of
the given Conclusion(s) logically follows/follow

from the Statement, disregarding the
commonly known facts.
Statement : Some radios are mobiles. All

mobiles are computers. Some
computers are watches.

Conclusion-I: Certainly some radios are

watches.

Conclusion-II : Certainly some mobiles are

watches.
Which one of the following is correct ?
(a) Only Conclusion-I
(b)  Only Conclusion-II
(¢)  Both Conclusion-I and Conclusion-II
(d) Neither Conclusion-I nor Conclusion-IT
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fAwrferfeam 4 (aT) Tv19n & ferg FR39r :

719 2w 77w 9R=se # 9igw iR TR=sel & A9
¥ I JEE F I T | F7T Fen F forg
39% I FacT 37 I=sel W &1 eha g7 Tz |

ufesg - 2

HY gritfeufaht & qa § a8 7aunon 7
Fiy aiifeufos a5t i arpfaes wftfeafas @& &

fess - 1

R e FrFe) & gl S W, g
e St onbe # R W S @ aie A B
3R wEh &5 ¥ g ¥U ¥ U I 8§, &l
I 9 9% TE B & | TPl I A, I FF
gl i wH A ], ot % g& I Wi
% fe WiieA Suerey a8, o fafaw ver %
FanieEl (B @M aT W) Y e sTmEd
H WEW 4 & | A woweh v ok =wEs
Itk AFET L8 AT TIHT W A IR &
& W i &7 & 9@ @, @ qfed R ga
TR e H GowfiE @ deE ¢ §hd & |
IR GEH-TaTy H, ISR & & AEIAE FA

Srg-fafasar @i SR Ry 1 SFHTT HET
afke | TR FRN ol (Ffww), s
TThfaeh Wiedl hi TWE Icagh, igeh-ufal,
Qyh-EgeH, qU1 YO R dHE F  Wfd
ayeaeia (ffafesie) & awdt & | aitfeafass
Al # po ft ‘wd’ T Jrar 2, R 9w awdi
ST T T T R0 Bl & iy et
1 339 NS Ul Bl §e HE 8, Ffq, A &
fpe g Wft T ol Rl BEHATE @R %
ST X qliet F g gt | 9 A gge
? | 3Eh IFaid, Trepfash Afsha1ati H1 3w dige
iz & fofe. qen oi-EE Ff (ST &
g WE R IR FAH & o ot fem s 2
F wifEafe wgfel § wge ot weel %

wﬁﬁ%qaﬁ%mﬁamuﬁ\®® e gt 7 e e 2
Wwﬁ‘f@a%wwgﬁ%@w 12, freffea w fem AR
i i s 1. YH-Eeoae (He i)
1. Wi @Eﬁt g8 T TR .
i (B w) & e 2. Ron e Gl
2. o % g& Fel WN.3IT TR §, T 3 3. I HaHd
w3 ST gar o Sifert TE 3T Rt B | 4, fufta
3. Sofafquar & wew A e g@i A 5. g8 (dicfiehe=)
Ao B | 6. et R (afiwe i)
4. 3 g el % s F v F o :
et <t firehT 2 | qﬂﬂg%m,sﬁ?ﬁﬁﬁaﬁuﬁgﬁ
ST # & He-d gt a3 2 Wﬁvﬁ@ﬁﬁ%%@aﬁﬁé?
(a) ad 1 3R 2 (a) had 1,4 3R 5
(b) HadA 3 (b) hae 2,3,4 3 5
(c) hadl 2 3R 4 (c) *had 1,2,3 3 6
(d) e 1,33 4 @ e 436
BXC-B-GYLI (8—A)
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Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow. Your answers to these items should

be based on the passages only.

Passage - 1

Fig trees (genus Ficus) are considered
sacred in India, East Asia and Africa and are
common in agricultural and urban landscapes
where other large trees are absent. In natural
forests, fig trees provide food for wildlife when
other resources are scarce and support a high
density and diversity of frugivores (fruit-eating
animals). If frugivorous birds and bats continue
to visit fig trees located in sites with high human
disturbance, sacred fig trees may promote
Under

microclimate, plenty of seedlings of other tree

frugivore abundance. favourable

species would grow around fig trees.

$

11. On the basis of the passage g’@én above, the
following assumptions havgb. n made.:
i Fig trees can o@%e keystone. species
in natural fox@.
2. Fig trees can grow where other large
woody species cannot.grow.
3. Sacred trees can have a role in
biodiversity conservation.
4. Fig trees have a role in the seed
dispersal of other tree species.
Which of the above assumptions is/are
valid ?
(a) 1and2only
(b) 3only
(¢) 2and4only
(d 1,3 and4only
BXC-B-GYLI

Passage - 2

At the heart of agroecology is the idea that
agroecosystems should mimic the biodiversity
levels and functioning of natural ecosystems.
Such agricultural mimics, like their natural
models, can be productive, pest-resistant,
nutrient conserving, and resilient to shocks and
stresses. In ecosystems there is no ‘waste’,
nutrients are recycled indefinitely. Agroecology
aims ét closing nutrient loops; i.e., returning all
nutrients that come out of the soil back to the soil
such as through application of farmyard manure.
It also harnésses natural processes to control
pests . and ‘build soil fertility i.e., through
intercropping. Agroecological practices include

integrating trees with livestock and crops.

12. Consider the following :

1. Cover crops

2. Fertigation

3. Hydroponics

4.  Mixed farming
5. Polyculture

6.  Vertical farming

Which of the above farming practices can be
compatible with agroecology, as implied by the
passage ?

(@) 1,4 and5 only
(b) 2,3,4 and 5 only
(¢) 1,2, 3and6 only

(d) 4 and 6 only

(9-A)
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uftess - 3

T had shise HIE & faawr 3 e
3T BT % WY HRYL H HoY ITUT gl
S @ R, afch fifos aeqgeit i arafes g
3N Hagaefia gea IR & @1y off 98 day «¢
W R | TH AYGH FR, IR W TH FAX B
wH fomM, TE W T FYA B | e ATE
¥rg” &% oA @ wew fusl it ww.em.ang.
THI 8 AR W o (W) it sgfem
U9 q Tk a%g § HgEl WHA @ S |
3 S/ H YH Ty § fR ¥ sweRr (ASwR),
o STHCY THHEl HI JEA W Aw
foparaaia &M | & vEd € I8 YA H g
E 5 3 forie & I FR o TEAR W qrE

fror (fote dhgier) w1 O
@
Q‘Z)-
N
13. 37w wR=se & gfqafea, fefafea

T ¥ sH-E w9 @afs Fufas sy &
qaraw &9 & Frfar 2 2
(a) YR Y T Gufera & 8 |

(b) WTFESIT T AT HUfAT ATFSR L& i
il & T ot 2

(c) TeT guam gaft wak fmit it srmavaehar
21

@) ¥H9R SenfEh hit adae ygfa, wfoss &
TR Sftam 1 ywifea Ff |

ufess - 4

T, STEHTar, TETERTe IR IRETedl
# gEmelt ¥ SEraT w3t sife TR
shTHeh UM T WA 39 Hal g | reea-fafy
(eresiia) & fmfim = 2 : =afem, e ek
e e fafy |3Hﬁ"=lﬁ'§l=i23=|€f%%
FRFTd TS TG & ThAs WM hl o § HHt
It B | g 39 &9 § ST9R & yaw 7 geen &
St wraA H I o 2, S o % s
TS GRT JJRid Bt 2 3R vee Bt 8 | ufeem
A9 &1 T I gual . fob safmra wree-fafy
% Y- I A § W gUR a
s Id, Weodl 3N G G 99 ueh 4
fomy /e gy /dsem Y g0 H gaied HH o R )
B ! TS T & Jfd I SARHTd WS T
qER 4, R wwE W off @ R, R
qRfeIREfl W 3H% THRcHs IHE h HEReHT
Bl ® YT I TR W S fe@Am Smr @ SR
3@ Wit Tmope w1 guia #a R |

14. 37 UiteRg % IUR W, Fefafed geemond

TE W E

1. @ @ o sfee ety & g
BT 8, 9 e wre-fafy w e T8
WE |

2. SATTHTd T=odl ¥ wg-3fufy wfcredt Tmmoysti
& WgwTa &1 famor foam s weha R |

3. WreeA-fafy & &9 4 IR % Y9W & GshHS
AT 1 T 9T 2 |

4. GHWH W & &g B HF HH & U
A iR gEr-wly gwagy vt & § |

5. 98 S WY 39 % WIEAH ¥ HEid
TR Wee-fafy B, St @hme W %
foeg @eE ¥ ara § SR # |

3w | ¥ - ghurend 7= § 2

(a) a1 3R 2

(b) had 3 3T 4

(c) Had 43R5

(d) had 1,23 4

(10-A)
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Passage - 3

Computers increasingly deal not just
with abstract data like credit card details
and databases, but also with the real world of
physical ‘objects and vulnerable human
bodies. A modern car is a computer on
wheels; an aeroplane is a computer on wings.
The arrival of the “Internet of Things” will
see computers baked into everything from
road signs and MRI scanners to prosthetics
and insulin pumps. There is little evidence
that these gadgets will be any more
trustworthy than their desktop counterparts.

Hackers have already proved that they can

Passage - 4

A social and physical environment riddled
with poverty, unhygienic and
insanitary conditions generates the risk of
infectious diseases. Hygiene has different levels :
personal, domestic and community hygiene.
There is no doubt that personal cleanliness
brings down the rate of infectious diseases. But
the entry of the market into this domain has
created a false sense of security that gets
conditioned and reinforced by the onslaught of
advertisements. Experience. in°Western Europe
shows that along with personal hygiene, general
improvements in environmental conditions and
components like clean water, sanitation and food
security have brought infant/child
death/infection rates considerably. The obsession
with‘hand hygiene also brings in the persisting
influence. of the market on personal health,
overriding or marginalising the negative impact
on ecology and the emergence of resistant germs.

inequities,

down

take remote control of internet \@'xected 14. On the basis of the passage given above, the
PR pacein o g\ following assumptions have been made :
, & 1. People who are obsessed with personal
\Q(b' hygiene tend to ignore the community
§ hygiene.
13. Which one of the\iollowing statements best 2. Emergence of multi-drug resistant germs
can be prevented by personal cleanliness.
reflects the most critical inference that can 3. Entry of the market in the domain of
be made from the passage given above ? hygiene increases the risk of infectious
diseases.
) 4. Scientific and micro-level interventions
(a) Computers are not completely safe. are not sufficient to bring down the
burden of infectious diseases.
(b) Companies producing the software do 5. It is community hygiene implemented
not take cyber security seriously. through publ.ic health measures that is
really effective in the battle against
_ : infectious diseases.
(c)  Stringent data security laws are needed. Which of the above assumptions are valid ?
; (a) 1and2only
(d) The present trend of communication ) 3and4only
technologies will affect our lives in (© 4 and 5 only
future. (d) 1,2 and4only
BXC-B-GYLI (11-A)
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15. T sy =9 e mon 2, fmes suua fsedon

16.

17.

BXC-B-GYLI

3R fsepe.11 fou e § | smuent 39 wuA Y T

A g A T IW AT R, WA & qg am

Y @ 1@ A H Y A T weftd T & | woft

frepet 1 9@ R dovEm folr W=

FH-ar/dAa fed fir T s ¥ gEw

THETT 2/F, T & F IEET €9 § §@ q=

feRAT@IE |

Fo7: T fofgal sawd 8 | $8 @it
FHi & | oft Fidaf 7w 2 |

fepy-l: %o JemiE Afa s a o § |

11 - %o fafgat ot 7 oft 8 gt & |

freferfaa # @ s ad R 2

(a) <had fIsy.I

(b) haet fsmIn

(c) Torsspd.1 afi feepd.11 gt

(@ T fswdr 7 & fsedan

@mﬁaa@amaaﬂzg@ﬁmm
H Fr€ @ fian R | T@S oft Tz wfi
¥zt 2, A 4w é%aﬁysm
I e B o $EE50 cm @
FH g, qf g T8 2 | e A B T
¥ qd, g feraft IR i ¥ TRt & 2

(a) 4
® 5
(¢ 6
@ 7

Th U § IS auiHen (s e W) %
=oHl & gfdfasl &1 Aacihd fhar ST ? |
T ¥ 3 gfdfest i g@a fhaft & s et
T AThid o THH oS 777 3 ¥ 2

(a) 13

(b) 14

(c): =16

d 16

18. U Seh =Ml 39 W ¥ 2f&or i 3R 10 km

19.

20.

(12-A)

3R 20 km TE! A B | 98 Q9 39 A
3R geoft 8 3 40 km T Tt B, fF ==
319 At 3R geeft B 2R 5 km M T R |
a8 9 30 Rl S gEdt @ 3R 30 km T
TAH 9 S TgAdl 8, T8I 98 HEAW 7 |
I d% IR Iqh W & o= Faad gt fhat
??

(a) 20km

(b) 25km

(¢) 30km

d) 35km

700 | 1000 T o qUITehi ! geltag foham T
? '3 ¥ fopa quifet &, 3t %1 ATHA 10
77

(a) 6

by 7

(c) 8

d 9

T Afge I A AR 12 km Qe 7, R I8
Zfeqor Y 3T 6 km TAT IHP YTET Y H AR

8 km dredt B | 9 weuH foig & a7 foem fgam
qR?

gfqurgd § 45° @ HH HIUT W
(b) IS H 45°F HH HIV T

(c) Tfrrgd § 4509 s HT W
ITGE | 45°F AlH BT W

(a)

(d)
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15.

16.

17.

BXC-B-GYLI

A Statement followed by Conclusion-I and
Conclusion-II is given below. You have to take
the Statement to be true even if it seems to be
at variance from the commonly known facts.
Read all Conclusions and then decide which of
the given Conclusion(s) logically follows/follow
from the Statement, disregarding the
commonly known facts.
Statement : Some cats are almirahs. Some
almirahs are chairs. All
chairs are tables.

Certainly some almirahs are
tables.

Conclusion-I :

Conclusion-II : Some cats may not be chairs.
Which one of the following is correct ?

(a)
(b)
(e)
(d)

Only Conclusion-I

Only Conclusion-II

Both Conclusion-I and Conclusion-II
Neither Conclusion-I nor Conclusion-II

A boy plays with a ball and he drops it from a
height of 1-5 m. Every time the ball hits the
ground, it bounces back to $x a height
4/5% of the previous heigh e ball does not
bounce further if the us height is less
than 50 cm. What is number of times the
ball hits the before " the’ ball stops
bouncing ?

(a) 4

(b) 5
(c) =6
& 7

Images of consonants of the English alphabet
(Capitals) are observed in a mirror. What is
the number of images of these which do not
look like their original shapes ?

(a) 13

(b)y 14

() 15

(d 16

18.

19.

20.

(13-A)

A bank employee drives 10 km towards South
from her house and turns to her left and
drives another 20 km. She again turns left and
drives 40 km, then she turns to her right and
drives for another 5 km. She again turns to
her right and drives another 30 km to reach
her bank where she works. What is the
shortest distance between her bank and her
house ?

(a) 20km

(b) =25 km
(¢ 30km

(d) _ 35km

Integers are listed from 700 to 1000. In how
many integers is the sum of the digits 10 ?

(a) 6
by -7
ey 8
@ 9

A woman runs 12 km towards her North, then
6 km towards her South and then 8 km
towards her East. In which direction is she

from her starting point ?

(a) An angle less than 45° South of East

(b) An angle less than 45° North of East
(¢)  An angle more than 45° South of East

(d) An angle more than 45° North of East
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Referam 4 (ar) syt & fore Rdr -

A9 13¢ 7T AR IR=DT F Uiy ik ah=eg & A9
3 I FE F IR HY | 57 yeA & forw

uftese - 2
tHt for oné & 5 aom § 9 9 areh

37173 IR FIcT 37 TR=Sq T & menha &7 wiRT

21.

BXC-B-GYLI

ufesg - 1

ol 3R Joarg Feeh Afa-fmfon & &7 o
WA AU 3T WSy 1 g o @ R
quETd %3 : Sharedt $e i e smanet §
HfeRar; ge@ e« % fou faseft i @
ThH % AgfE fu f dfm uge; wfer
afees it % wew § do & s # gfy; frerelt
% Fm gea fufor ot wem 6 R &
Sokaey faselt it ercafius wift sty it
Y, et 7€ T, 4fy, 9@ 9O I | F@a
g Wi e | Ry @@ ww s
frremsen oft 7 2 : wed g S g Hreha;
Thihd YRR 3 ufaeq Hifd w ==l It
T Uge 3R Hal G WM & T
3R Tl Fai 2q arles %\éﬁm

i Tw TE R,
PRURETSCl ng\
$

&1 3R Tohd LA & |
ffafea & @ #w s97 9w ofede &
TEIEF 0TI TP Teqa a1 8 2

(a) W%Wﬁvhqﬁmaéaaﬁa
3N 3q-gefea 7 |

R 1 Fot IR Jorayg e gurcfi
forprar % et & foru sreaferes gomma & 1

R i Fol N Joayg et Hrar,
Wh ANE  GEe, onfie ik
vt dedi % o et T8 & |

qRA & Sl ol 6 gfean @9 i w
AY(d-37g@ B MW | gg H Ve wdh
2

(b)

(c)

(d)

22.

9 yiafas il (fRamiw) sfgerms
(T THIeR) % T § Fape (Aedt) 3R o
e H faad st ¥ | W oiwRei %
AT § T goem K MY I B TR
&, 9 sg-sftwfe & fore wfedeht & ik it ags
4 oty W FHRd § | TN B, O
FABCAEH FAA A Fapel H dS § a9
seH % fou sfwfEi s waim o7 @ far 2
1990 % 2YH 4§ 9d ST I e igwns
(T et Rfeemifesh) & wanT W A% @ 2,
e AT fratas & e € st g
YA A RE — sy d i man &
®EI

ffafea & & S wom 3w af=de @
T e Furfaas G397 STega Ht & 2

(a) QT I YU IAE F FaT A T
=fRy |

YA ¥ I G gerdf % TE W e
¥ 399 W el 1 IFANT HET I |

(b)

Ty W it swfel (YRamfam)
% YA W yfoey g1 =i |

(c)

yfostfas el =1 v Faa 70 %
I9=R & fow € feman s =nfaw |

(d)

(14-A)
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Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow. Your answers to these items should

be based on the passages only.

Passage - 1

India faces a challenging immediate future
in energy and climate policy-making. The
problems are multiple : sputtering fossil fuel

production capabilities; limited access to
electricity and modern cooking fuel for the
poorest; rising fuel imports in an unstable global
energy context; continued electricity pricing and
governance challenges leading to its costly
deficits or surplus supply; and not least, growing
environmental contestation around land, water
and air. But all is not bleak: growing energy
efficiency programmes; integrated urbanisation
and transport policy discussions; inroads to
d beld

renewable energy initiatives, e éﬁ‘x&lf not fully

suggest %@) promise. . of

enhancing energy access and securj

conceptualised,
transformation.

|22.

Passage - 2

There are reports that some of the
antibiotics sold in the market are fed to
poultry and other livestock as growth
promoters. Overusing these substances can
create superbugs, pathogens that are
resistant to multiple drugs and could be
passed along humans. Mindful of that, some
farming companies~have stopped using the
drugs to make chickens gain weight faster.
Since Denmark banned antibiotic growth
promoters. in the 1990s, the major pork
exporter says it is producing more pigs —

and the animals get fewer diseases.

Which one of the following statements best

N\

reflects the critical message conveyed by

21. Which one of th@llowing statements best

reflects the critical message conveyed by the passage given above ?

the passage given above ?

(a) India’s errapendMsion making process (a) People should avoid consuming the
is ever more complex and products of animal farming.
interconnected.

(b) India’s energy and climate policy is (b) Foods of animal origin should be
Hevie bied 9 cigshun o replaced with foods of plant origin.
development goals.

(¢) India’s energy and climate actions are (c) Using antibiotics on animals should be
not compatible with its broader social,
economic and environmental goals. banned.

(d) India’s energy decision-making process e
i stralghtformabd sunply-oriented and (d) Antibiotics should only be used to treat
ignores the demand side. diseases.

BXC-B-GYLI (156-A)
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wﬁ%@?-a
fifa-Fataresit s sm-gew e ()
I @@ veEl hi EuE gl himdl ¥ g w8
HH B Gl e 2, Fomd $om i 3= fivd,
TE GE-SEeH U H T 0 3N @Rd
verel % Ieured & fore iy 1 Iw wifte R |
R o, waife o et wwd g
Fferaal @ @@ weed f i § iy w
Hivd a1 fen w2 | 399 3@ 9 H wgd
fereh TwTeT St B T3 37 < # o1l @ua
T @I Hehe 3¢9 & Tohal & |

23. 30w ufeeg & Hed #, Frafafea qdamomd
TE S E

i WW%W@[@W%

9. gfe e wivsy ¥, fava § @@ g 3=

qaT B, df 98 I g8 AefemawArsA A
& |

wﬁﬁﬁﬁﬁq-t‘ﬁqg‘um/ﬁwnim%%?
(a) Fad 1

(b) had 2

(© 13 2gH

(@ dA1,T82

ufesg - 4

syfis foshm o w1 gew wew
I H gig H HE o 2, FEw R wwd
el 3 (hdd) § 9fg & ® | Rigiaa:,
wodt g A, e s fEw % smE
giva it 8 | 59 et T 0 i o | gfg
gt 8, SEehr .. = &m =ft 9 o,
a9 IRER, TR R TR, TS Sad & o
METIH TG b ScaeT vg $9 [ & srem
@t H IT §WY Bd 8 | o fasw
vreerae), (Saeivde Afedeia) #, shddt. @
HEul ¥ T 3 T R R afg g “onfdw
g’ 1 3@ a1 &, A T IH Id 7 6
IRt omer S Hafg | 7

24, 3T ufeag & el #, Ffafgd gdumomd

SIS TS ¢

1. wgdt g8 MR, et <o+t fofea ow
7 % fog srframd 2 |

0. o g NAM. wh had F smm @
Tfed faamn gifeea & 2 |

3 | | HH-H g/ o= 278 2

(a) ad 1

(b) HaA 2

(¢ 13 23M

@ daq1,AH2

BXC-B-GYLI (16-A)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Passage - 3

Policy makers and media have placed the
blame for skyrocketing food prices on a variety of
factors, including high fuel prices, bad weather in
key food producing countries, and the diversion
of land to non-food production. Increased
emphasis, however, has been placed on a surge in
demand for food from the most populous
emerging economies. It seems highly probable

that mass consumption in these countries. could

be well poised to create a food crisis.

23. With reference to the above passage, the

following assumptions have been made :

L Oil producing countries are

reasons for high food prgs’§Q

2. If there is a foo

emergmg economies:

Which of the | above assumptions is/are
valid ?
(a) 1lonly
(b) 2only
(¢) Both1land2
(d) Neither 1 nor 2
BXC-B-GYLI (17-A)

e of the

is in the world in

the near h@ it “will” be in the

24.

Passage - 4

A central - message of modern
development economics is the importance
of income growth, by which is meant
growth in Gross Domestic Product (GDP).
In theory, rising GDP creates employment
and investment opportunities. As incomes
grow in a country where the level of GDP
was once low, households, communities,
and governments aré increasingly able to
set aside some funds for the production of
things that make for a good life. Today
GDP has assumed such a significant place
in “the that if
someone mentions “economic growth”, we

know they mean growth in GDP.

development lexicon,

With reference to the above passage, the

following assumptions have been made :

1 Rising GDP is essential for a country to
be a developed country.

2. Rising GDP guarantees a reasonable

distribution of income to all households.

Which

valid ?

of the above assumptions is/are

(a) 1only
(b) 2only
(¢) Both1and2

(d) Neither 1 nor 2
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25.

26.

217.

28.

BXC-B-GYLI

Hd 9 P, Q, R, S, T, U 3R vV Tig-a1y w&t
€ | R, Q 3 T3 ot Hich § ot 3=y geaant
& W AT T b 8 | Haw S R U T
Y& 8 31 A geash QO § | P, R 3 S fifyr
fare & v mifer # | i e A [
TR B F 2

(a) Q3MR

b QIR U

(© QIMT

@ T3RU

T T T srgsEn
3,2,7,4,13, 10, 21, 18, 31, 28, 43, 40 ¥,

TAd UG I TEl Ug ¥ 9, W@l fawm ug ik
Y UG THH 92 1 IFFE FQ § |

(a 0
® 1
el
d 6

Fo fafeat 1 smoge A foan mon 2 wfafeat
ufthar w fAfvea sgfa HA B

TEHER 31T fAf® (2) |
N

10A N\ 3C

6A

N

7B
3C
10A

(a) 9B
(b) 3A
() 3B
(@ - 3C

= @ oferet § @ wdaw g fow o E
AqhH-I: |8 |4 |6 |15| 525 | 236-25
FgHA-I: |5 |A|B|{Cc| D | E

FIHA-11 % foTT ¢ o To= o o ufafy 2 2
(a) 25

(b) 5

() 9-375

d) 328125

29. TH HAfth X, TH A ¥ 991 T = AR5 Y,

30.

(18-A)

M B # T & &7 W Th-gal I 3 S
A HTd & | g1 TAFT & o1 B gl 15 km
2 | X, 15 km/hr Sl THEHM =16 ¥ T @
IR Y 96 W F 1 knv/hr ) THEHH =1 @,
T W § 1-25 km/hr I THEWH 919 & o
M TR F 15 knvhr I THEHE I ¥ Terd
7 3R 3¢t YR 3m oft e I T

frfafga & & SF-ar/a98 5@ 2/ 2

1. 33 H e d 58S &1 gwg e |
2. 9 QH AT BEIM & fieisfe fireh |
et fou e 1 @ W ad I g
(a), e, 1

(b), e 2

(© 13 28mMl

(@ T 1,82

% faeneff odien & 6 yw-wE A Ao B | @AW
WA % fo siftehan o whEwH € | @
TG H 3 WA 5:6:7:8:9:10 %
HE H § | T AR I8 60% I W
e | 3T fFaa st o sifteram st
60% ¥ FH 3 e fopu 2

(a) =22
() -3
(c) 4

d 5
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25.

26.

217.

28.

BXC-B-GYLI

Seven books P, Q, R, S, T, U and V are placed
side by side. R, Q and T have blue covers and
other books have red covers. Only S and U are
new books and the rest are old. P, R and S are
law reports; the rest are Gazetteers. Books of
old Gazetteers with blue covers are

(a) QandR
(b) QandU
(¢0 QandT
(d TandU

Replace the incorrect term by the correct term
in the given sequence
3,2,17,4,13, 10, 21, 18, 31, 28, 43, 40

where odd terms and even terms follow the
same pattern.
(@ O
{b) =
e): A4
d 6
Following is a matrix of certain entries. The
entries follow a certain trend row-wise. Choose
the missing entry (?) accordingly.

A
SRBA
1m§§9’?
@\%\

7B
3C
10A

9B
3A
3B
3C

10A

(a)
(b)
(c)
(d)

You are given two_identical sequences in two
TOWS :

15 | 52-5 | 236-25
Sequence-II:| 5 |A|B| C | D E

Sequence-I: | 8 |4 | 6

What is the entry in the place of C for the
Sequence-II ?

(a) 25

b): b

(e) 9375
(d 328125

29.

30.

(19-A)

A person X from a place A and another person
Y from a place B set out at the same time to
walk towards each other. The places are
separated by a distance of 15 km.
X walks with a uniform speed of 1-5 km/hr
and Y walks with a uniform speed of 1 km/hr
in the first hour, with a uniform speed of
125 km/hr in the second hour and with a
uniform speed of 15 km/hr in the third hour
and so on.

Which of the following is/are correct ?
1.  They take 5 hours to meet.
2.  They meet midway between A and B.

Select the correct answer using the code given
below :

(a)
(b)
()
(d)

1 only
2 only
Both 1 and 2

Neither 1 nor 2

The

maximum marks are the same for each paper.

A student appeared in 6 papers.
His marks in these papers are in the
proportion of 5 : 6 : 7: 8 : 9 : 10. Overall he
scored 60%. In how many number of papers
did he score less than 60% of the maximum
marks ?

(a) 2
(b) 3
(o 4
d 5
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fRferfaa 4 (ar) gvi9n & forg (A3 : aftede - 2

79 U 10 A 9i=8q) % 9lew Ik wR=sd & 9 g fifra & 6 womre, 3¢, o fafy
R T T & I A | 5 oyt & fog| () H SRS U1 IgEA K WS H

ST I FaT 57 B W & S 53 e )| FAcehdl W 3a1 T Al A1 geha, faar
g sRmsa (sifufem) & g feafe wo
uftess - 1 Hifeh, T TG &9 ¥ ATRHA F g
I9YH A& B &, AfUg I ATRRaT o

JuTHRd aififes TyeEl & gey #, Ii I TR ST AR | 35k, fafeed, mgsy |
Yo% SAfRE H AT 4 P H B F G Yoffe wiwa wdr @ A & sk AR
e o, @ o w9 i v A @ T A fﬁmﬁﬁgﬁfﬁi;ﬁ%@ﬁvﬁz

: i) #, gt TgEed g

ﬁm@;ﬁﬁﬂﬁéﬁ-@i%uﬁm s O U Phaap B s e
TEH TR G, A ST AP TO A | 3 A NEA Ry i v @ 7@

Bt S wEl B, 3R sEfore ud % e #, |l @, ot 7 & g -fomm e st fafty s

fovs wét & o Oyt fE A R | ) I weifere, @ Ugedt % w9 F oW
Q YRR ! Jg o1 1 I @1 R |
=
.32, 3I9YH =g & MR W, F=fafeas & =
31. wﬁﬁwﬂﬁa%wms BT i i e g
Wmﬁq@@@ ! foreTeT ST Heha B 2
@ ®5 Wi =afe fol wfie TR @& (a) T ARAST | ToigrE, g iR fafyr &
st W f et sl @ I NEE 7 |
Tehd | ) et sfse # wft wmeen & fog
I L TR S ﬁl(‘”aﬂ“) S Y b
gTfies U T TER R |
(c) 98 HARTSH Gy 8 S Uehdl & 1&g &
(c) ififer wygRl ¥ WS i Uehar i 3uam ot v & g R e wm
H H g B R | g-mrri;w (Te fafesmfim) & fou fafu
(&) 2 |
) ﬁﬂaﬁmmﬁ?ﬁmﬁ Sk B
%l W%l

BXC-B-GYLI (20-A)
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Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow. Your answers to these items should

be based on the passages only.

Passage - 1

With respect to what are called
denominations of religion, if everyone is left
to be a judge of his own religion, there is no
such thing as religion that is wrong; but if
they are to be a judge of each other’s
religion, there is no such thing as a religion

that is right, and therefore all the world is

right or all the world is $§iu the

matter of religion. (§)
\Q 32. Which among the following is the most
N
@ logical and rational inference that can be
: \ 3 from th ive: 4
31. What is the most legical assumption that TRAGS SIS 1A DRSGSEY S SRiRIPYY
can be made from the passage given above ? (a) Seditions, wars and breach of the laws
' : . ; are inevitable in every dominion.
(a) No man can live without adhering to
some religious denomination. (b) It is not the people, but the sovereign
who is responsible for all the problems of
(b) It is the duty of everyone to propagate idn
, any dominion.
one’s religious denomination.
(¢) That dominion is the best which pursues
(¢) Religious denominations tend to ignore the aim of unity and has laws for good
the unity of man. citizenship,
(d) Men do not understand their own (d) It is impossible for men to establish a
religious denomination. good dominion.
BXC-B-GYLI (21-A)

Passage - 2

It is certain, that seditions, wars, and
contempt or breach of the laws are not so much
to be imputed to the wickedness of the subjects,
as to the bad state of a dominion. For men are
not born fit for citizenship, but must be made so.
Besides, men’s natural passions are everywhere
the same; and if wickedness more prevails, and
more offences are | committed in one
commonwealth than'in another, it is certain
that the former has neither enough pursued the
end of unity, nor framed its laws with sufficient
forethought; and that, therefore, it has failed in

making quite good its right as a commonwealth.
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37 ¥ | hH-H qaarod 9= § 2
(a) Had 13 2
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(d) e 33 4
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(a) 9Fd 9 wEE % e w9 F 9y
AT L # |
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(¢) @t Fmifint st e & qof, R ok
YRUfig Sk i gfead St 7 |
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Passage - 3

Inequality violates a basic democratic norm :
the equal standing of citizens. Equality is a
relation that obtains between persons in respect
of some fundamental characteristic that they
share in common. Equality is, morally speaking,
a default principle. Therefore, persons should not
be discriminated on grounds such as race, caste,
gender, ethnicity, disability, or class. These
condition are morally

features of human

irrelevant. The idea that one should treat
persons with respect not only because some of
these persons possess some special features or
talent, for example skilled cricketers, gifted
musicians, or literary giants, but because persons
are human beings, is by now part of

commonsense morality.

33. With reference to the above
following assumptions have b éi\*made :

age, .the

1. Equality is a prereg&@ite for people to
participate in th&@ultiple transactions

of society fro@osition of confidence.

2. Occurrence of inequality is detrimental
to the survival of demogcracy.

3.  Equal standing of all citizens is an idea
that cannot actually be realised even in
a democracy.

4. Right to equality should be incorporated
into our values and day-to-day political
vocabulary.

Which of the above assumptions are valid ?
(a) 1and 2 only
(b) 2 and 3 only
(¢) 1and4only
(d) 3and4only

BXC-B-GYLI

Passage - 4

Aristocratic government ruins itself by
limiting too narrowly the circle within which
power is confined; oligarchic government ruins
itself by the

immediate wealth. But even democracy ruins

incautious scramble for
itself by excess of democracy. Its basic
principle is the equal right of all to hold office
and determine public policy. This is, at first
glance, a delightful arrangement; it becomes
disastrous because the people are not properly
equipped by education to select the best rulers
and the wisest courses. The people have no
understanding and only repeat what their
rulers ‘are 'pleased to tell them. Such a

demgcragy is tyranny or autocracy. = — Plato

34, Which one of the following statements best

reflects the crux of the passage given above ?

(a) Human societies experiment with

different forms of governments.

(b) Any form of government tends to
deteriorate by excess of its basic

principle.

(c) _Education of all citizens ensures a
functional

democracy.

perfect, and sustainable

(d) Having a government is a necessary evil
because tyranny is inherent in any form

of government.

(23-A)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

35.

36.

37.
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39.

40.
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85. In a group of 120 persons, 80 are Indians and | 38,
rest are foreigners. Further, 70 persons in the
group can speak English. The number of
Indians who can speak English is
(a) 20
(b) 30
(¢) 30orless
(d) 30 or more

86. Consider all 3-digit numbers (without
repetition of digits) obtained using three
non-zero digits which are multiples of 3. Let S
be their sum.

Which of the following is/are correct ?
1 S is always divisible by 74.
2. S is always divisible by 9.
Select the correct answer using the code given | gg,
below :
(a) 1lonly
(b) 2only
(¢) Both1land2 \Q’Q
(d) Neither 1 nor 2 S\
N

87. There are two Classes &d B having 25 and
30 students respe y. «In( Class-A the
highest score is 2 d lowest score is 17. In
Class-B the highest score is. 30 and lowest
score is 22. Four students are shifted from
Class-A to Class-B.

Consider the following statements :

1. The average score of Class-B will
definitely decrease.

2. The average score of Class-A will|40.
definitely increase.

Which of the above statements is/are

correct ?

(@)% -1 only

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

BXC-B-GYLI (25-A)

'(c)

Consider two Statements and a Question :
Statement-1: Priya is 4 ranks below Seema
and is 315 from the bottom.
Statement-2 : Ena is 2 ranks above Seema
and is 37 from the bottom.
What is Seema’s rank from the
top in the class of 40 students ?
Which one of the following is correct in respect
of the Statements and the Question ?
(a) Statement-1 alone is not sufficient to
answer the Question
Statement-2 aloneis not sufficient to
answer the Question
Either Statement-1
Statement-2. alone is
answer the Question
Both Statement-1 and Statement-2 are
required to answer the Question

Question :

(b)

alone or
sufficient to

(c)

(d)

Consider two Statements and a Question :

Statenent-1: Each of A and D is heavier than
each of B, E and F, but none of
them is the heaviest.

Statement-2 : A is heavier than D, but is
lighter than C.
Question : Who is the heaviest among

A,B,C,DandE?
Which one of the following is correct in respect
of the Statements and the Question ?
(a) Statement-1 alone is sufficient to
answer the Question
Statement-2 alone is
answer the Question
Both Statement-1 and Statement-2 are
required to answer the Question
Neither  Statement-1  alone  nor
Statement-2 alone is sufficient to
answer the Question
In the English alphabet, the first 4 letters are
written in opposite order; and the next
4 letters are written in opposite order and so
on; and at the end Y and Z are interchanged.
Which will be the fourth letter to the right of

the 130 letter ?

sufficient to

(b)

(d)

(a) i N
)8
() e =3
d)s o1
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(b)

(c)

(d)

BXC-B-GYLI
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Directions for the following 4 (four) items :

Read the following four passages and answer the
items that follow. Your answers to these items should

be based on the passages only.

Passage - 1

Nothing can exist in a natural state which
can be called good or bad by common assent,
since every man who is in a natural state
consults only his own advantage, and determines
what is good or bad according to his own fancy
and insofar as he has regard for his own
advantage alone, and holds himself responsible
to no one save himself by any law; and therefore
sin cannot be conceived in a natural state, but
only in a civil state, which is decreed by.common
consent what is good or bad, and eb{@one holds
himself responsible to the state.&

Passage - 2

In the immediate future, we will see the
increasing of
technologies — artificial intelligence and robotics,

commodification many new
3D manufacturing, custom made biological and
lethal

This will pose

pharmaceutical products, autonomous
weapons and driverless cars.
conundrums. The moral question of how a
driverless car will decide between hitting a
jaywalker and swerving and damaging the car has
often been debated. The answer.is both simple —
save the human life — and complex. At which
angle should the car swerve — just enough to save
the jaywalker or ‘more than enough ? If the
driverless car .is in. Dublin, who would take the
decision ? _The Irish Government, or the car’s
original. code writer in California, or a software
programmer in Hyderabad to whom maintenance
is outsourced ? If different national jurisdictions
have different fine print on prioritising a human
life, how will it affect insurance and investment

decisions, including transnational ones ?

\QQ)' 42. Which of the following statements best reflect
41. Which one of the f ng«statements best fhe .ratl.onal, plausible a'fd prastical
% : implications that can be derived from the
reflects the cent idea of the passage 7
: passage given above ?
given above ? 1.  Too much globalization is not in the best
(a) The conceptions of what is right or interests of any country.
: : 2. Modern technologies are increasingly
wrong exist due to the formation of a blurring the economic borders.
state. 3. Innovation and capital have impinged
: : 3 on the domain of the State.

(b) Unless a ruling authority decides as to o Peiblid. polith oF ‘evers eotintry should
what is right or wrong, no man would be focus on developing its own supply
morally right. Chams'. 3 z :

B Geopolitics will have to reconcile to

(¢) Man is inherently immoral and selfish many ambiguities and uncertainties.
Tk Sabinal atate Select the correct answer using the code given

; below :
(d) The idea of what is right or wrong is (a) 1,4 and5 only
necessary for the survival of human (b) 1,2,3and 4 only
: (¢) 2,3 and5 only
o d 1,2,3,4and5
BXC-B-GYLI (27-A)
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qfesg - 3
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BXC-B-GYLI

fRwyy ot

ufese -4
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Hehdl |
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focfier &= ® gur e § |

(28-A)
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Passage - 3 Passage - 4

The resolution of bankruptcy cases of Indian

banks under the Insolvency and Bankruptcy

Code should help bring non-performing Kiduia In India, the objective of macroeconomic

(NPA) situation under some control. Despite the policy is to enhance the economic welfare of
slow pace of resolutions by the National
Company Law Tribunal, the Code can be helpful the people, and any one wing of such macro
in cleaning up bank books in future credit cycles. -

policy, monetary or fiscal, cannot
The recapitalisation of public sector banks too
can help increase the capital cushion of banks independently work without.active support of
and induce them to lend more and boost
; T 3 another.
economic activity. But bad debt resolution and
recapitalisation are only a part of the solution as
they, by themselves, can do very little to rein in
reckless lending that has pushed the Indian
banking system to its current sorry state. Unless

, 44. Which one of the following statements best
there are systemic reforms that address the

problem of unsustainable lending, future credit reflects the corollary to the passage given
cycles will continue to stress the banking system.
é above ?
\\Q
43. Which one of the followin, &tements best ;
reflects the most lo< rational and (a) The central bank cannot work
i::::;:‘;five:l;gbi:%%@ LY the independently of the Government.
(a) Lending by the banks should be closely
monitored and regulated by the Central (b)  Government should regulate financial
Government.

markets and institutions closely.
(b) Interest rates should be kept low so as to

induce banks to lend more, promote

credit growth and thereby boost (¢) Market economy is not compatible with

economic activity.
the socialist policies of the Government.
(¢)  Merger of many banks into a few large

banks alone is the long-term solution to

make them viable and prevent their bad (d) Financial sector reforms are required for

performance.
enhancing the economic welfare of the
(d) Indian Dbanking system requires

structural reforms as a long-term people.

solution for bad loans problem.

BXC-B-GYLI (29-A)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

45.

46.

47.

BXC-B-GYLI
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(d)

48.

49.

50.

(30-A)

10 TGRS, 2027 HH-81 IR EAT 2
(a) TeEw

(b) EHAR

(c), HER

@) wfHaR

f= fer Tu @ weAl i =R fseat w fEmw
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faw o ol % SrfER dhETd B/E, W € 9
YT &9 8 37 et h g & 9ra 9 7 |
F7-1; (FORAAE |

FYT-2:  FO A HA 7 |

fFepy-1 :
fsy-2 :

FO R P B |

I3 i & H T 2 |
frey-3 . aft & & # |
fowy4: |t He B |
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@ "Aafsed, a2, ad3, 784

3TPH 2, 7, 22, 67, 202, X, 1822 o X’ % qH

Q2
(a) 603
(b) 605
() 607

(d) 608
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45. Consider the following Table : 48.
Runs Balls Runs [Balls faced
Blayer scored in| faced in | scored in | in the
the First|the First{the Second| Second
Innings | Innings | Innings | Innings
A 61 99 14 76
B 05 12 50 85
C 15 75 20 50
D 13 55 12 50
Who is the fastest run scorer in the Test 9,
Match ?
(a) A
) B
(cy ©
d D
46. Half of the villagers of a certain village have
their own houses. One-fifth of the villagers
cultivate paddy. One-third of the villagers are
literate. Four-fifth of the villagers are under
25 years of age. Which one of the following
statements is certainly correct ?
(a) All the villagers who have their own
houses are literate. ®
(b) Some villagers under 25 s&%s of age are
literate.
(¢) Only half of the vi s who-cultivate
paddy are literatéxO
(d) No villager un 5 years of age has his
own house.
47. Consider two Statements and a Question :
Statement-1 : The last-day of the month is a
Wednesday.
Statement-2 : The third Saturday of the month
was the seventeenth day.
Question :  What day is the fourteenth of the
given month ?
Which one of the following is correct in respect
of the Statements and the Question ? 50
(a) Statement-1 alone is sufficient to|
answer the Question
(b) Statement-2 alone is sufficient to
answer the Question
(¢c) Both Statement-1 and Statement-2 are
required to answer the Question
(d) Neither Statement-1 alone nor
Statement-2 alone 1is sufficient to
answer the Question
BXC-B-GYLI (31-A)

Which day is 1 October, 2027 ?

(a) Sunday
(b) Monday
(¢) Tuesday

(d) Saturday

Consider two  Statements and four
Conclusions given below..You have to take the
Statements to be trué even if they seem to be
at’ variance from/the commonly known facts.
Read all Conclusions and then decide which of
the given Conclusion(s) logically follows/follow
the

commonly known facts.

from Statements, disregarding the

Statement-1 :
Statement-2 :

Some greens are blues.

Some blues are blacks.

Conclusion-1: Some greens are blacks.

Conclusion-2 : No green is black.
Conclusion-3 : All greens are blacks.

Conclusion-4 : All blacks are greens.

Which one of the following is correct ?

(a) Conclusion-1 and Conclusion-2 only
(b) - Conclusion-2 and Conclusion-3 only
(¢) Conclusion-3 and Conclusion-4 only

(d)

Neither Conclusion 1 nor 2 nor 3 nor 4

What is the value of X’ in the sequence
2,7, 22,67,202,X, 18227

(a) 603
(b) 605
() 607
(d) 608
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At 2 (3h) swvaror % forg A :

77 T 1 3 9= # 9law ik wResa & A9
37 T TN F I T | 37 T F forw
9% IW FIT 3 GR=od W & meiRa &7

TIlT |
aftesg - 1 :
Fae 3R wH.oTE. &, N atw favafemme,
P dq-TAh (ﬁﬂa)wwﬁ@m
Heaah H Fawr T F aoeg, TRw war”
(Flipped classroom) 9149 I At A I © % EH

3T I WE HA 7, N el w sy wdia
% 3l 3% W@ 3oa foudl @ s/aa W § A
wrEfes & | 37 favafaemert 3 emm fifen saresi
ﬁtﬁﬁwﬁmmﬁwm%m%lé

ﬁwmmmmﬁa& &+ fow off
e F© § | &
N
51. ﬁmﬁrﬁaaﬁai@%mmgwm%
F7 faem &t &7 @ Fvfar & 2

(a) URUR ugfd # qaw & wen e
gaifld il SAarEd ugfd @
fervafermmert 1 emar Sgaw anft |

fovaaeg @ 18 Ft e fomm s=an e
mﬂgﬁmﬁaﬁzmmﬁm«» EXERE ]
|

B IR foen ¥ gefta amurie g o
Aftre Ay w1 6 awwar T8 & 3
a9 off, g9 JgR THE R gl doft
ﬁﬁﬁmwm%l

I foiem & o 83 & ol &
HIY-FY BT GEAH 36 JATE H1 AN

(b)

(c)

(d)

¥ Fehd & IR BA-B Hehd B |

BXC-B-GYLI

(32—

ufesy - 2

TR TR, TEEA & Aeh Hhgur 3K
AP Muih AR % HRU
Sty aRadd & gfd srcafe giw € | se
Hafth, I FEE T oG @ 8, fohg g
SAarg IREd o yHmEt & e % fog anft
T I3 Jumelt faenfea & 1 2 | Sh. . H,
FAR TR H ICH 65% 2, fohg I Sar HY
HETIFHAA B QU FH o foe g3 glaumd
T € | ag i oran, afEe, onfe, & Hefm
THEAAT W M Gl Aeequl 7, S o dumofig
TNYE gt & fIu srcmawEes € | # R
IS S HE H ARG Bl Gfeferd
1 AEIRAT @ 3R W ifeufas @3 &1 god
HTAL G S AT Y STATIRATIT B T H
|

52. 3I9YH RS & MUR W gfqurfeq, fF=fafaa
H q wH-E @afhe qdana i Aasgef
vy B a1 & ?

(a) TR TR A Wi SR % 99 gee
TSI SAGEYT T BT AT & |

R wg@ gon SHEE wHe, HuwefiE
forhra 1 % gAR STl § 916 R |

TR TR % W-EE AR fawm F fo
T uyrefiaar deef s@E@w & A
TR B |

HRA i MU AT W Gureian
et wmemett % fou fowm
et wrfiglt gl sresd
Aetafes gome™ 2 |

(b)

(c)

(d)

A)
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Directions for the following 2 (two) items :

Read the following two passages and answer the
items that follow. Your answers to these items should

be based on the passages only.

Passage - 1

The best universities like Harvard and MIT,
despite having the luxury of having some truly
excellent teachers on their payroll, are
increasingly embracing the “flipped classroom”
format, where students listen to video lectures at
home, and spend class time applying their
knowledge, solving problems, discussing
examples, etc. Professors guide that discussion
and fill in wherever necessary, explaining those
bits that seem to be eluding the students and
throwing in advanced ideas that happen to be
topical. These universities have made their video
lectures available free for anyone in the world.
They are also encouraging colleges and
universities all over the world to integrate these
online courses into their own pedag icking
the pieces that are appropriate Kb eir needs
and building a package around %&

51. Which one of the fo
reflects the cen
given above ?

(a) Efficacy of universities. would be better
in online mode of conducting classroom
tuition as eompared to conventional

method.

(b)  Availability of higher education can be

made easier and cheaper without
diluting the content.

(0 We need not invest much in
infrastructure  related to  higher

education and yet develop better human

and social capital.

(d) Private sector institutions in higher
education as well as coaching institutes
can take advantage of this opportunity

and thrive well.

BXC-B-GYLI

g statements best
idea of the passage

Passage - 2

Our cities are extremely vulnerable to
climate change because of large concentrations of
populations and poor infrastructure. Moreover,
population densities are increasing in them but
w;a have not yet developed the systems to address
climate change impacts. Our cities contribute to
65 per cent of the GDP, but there are not enough
facilities to cater to the needs of the people. It is
ix;lportant to address the issues of air quality,
transport, etc., that .are vital to identifying
sustainable solutions. We need to involve citizens
in cityplanning and create an ecosystem that

meetsthe needs of the people.

52. Which among the following is the maost

logical and rational inference that can be

made from the passage given above ?

(a) Our cities need to have well-defined
administrative set-up with sufficient

autonomy.

(b)  Ever increasing population densities is a
hindrance in our efforts to achieve

sustainable development.

(¢) To maintain and develop our cities we
need to adopt sustainability related

interventions.

(d)  Public-Private Partnership mode of
development is the viable long-term
solution for the infrastructure and

sustainability problems of India.

(33-A)
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53.

54.

55.

56.

BXC-B-GYLI

7 au fooa 3 U @ gFE | TF & THER 5
F9 9 MR fmiy Ife =l % fou wme
g @ | Afg S A 3 W R 5 Ui
Thdi, iR fawm 7 2 U9 ok 7 Ufed @, @
frafafes & & sh-w @ 2 2

(a) Uit 1 I, T F qou ¥ iU @

(b) et 3t 99 & qed s 3

(¢) U I geu, Ui & qo9 | g 2

@ A e, Ut % g @ o R

wH qien § P 4 Q ¥ 40 37 31fie wrw Ry |
I Q 7 P ¥ 10% H 3k I e, @1 Q I
feram 37 yTea fopu 2

(a) 360

(b) 380

(¢) 400

d 420

wh = P Y o dF e # *&;ﬁﬁxé
o1 Fe we T PR o &awﬁm
“gfe Y g3 < 40 @ B, -z B 3T
o= g, g It z 40 ZA1®, Q1 &W ot
% g TR & X, Y3IR Z'% 98 Fa

framaT d 2
(a) T 420
(b) T 360
() T 300
@ <270

T  FWW H  MATHEMATICS i
LBSIDNZUHDR’ % &9 ¥ for@r wmar 2 | 39
9T # ‘CHEMISTRY &1 %8 forar s 2
(a) DIDLHRSSX
(b) BIDNHTSSX
(¢) BIDLHTSSX
(d DGFLIRUQZ

(34-A)

57.

58.

59.

60.

frfefea # @ form wma, el ot & R A
g aur fime A g o™ # 180° W HW
ST 2

(a) 7:00 5
(b) 7:00 3R 7:05 T & =
(¢) T7:05%
(d) 7:053W 7:10 5 & =

90 ¥ aTell Teh SEgB Tlie #, TS WAl I
% fore 5 37 fauifa fopg e # ot e e
I % forw 2 i we | € | Tt 90 WA F
IW A W, T el B FA 387 IF U
§C | T IR i T fohadt @ 2

(a) "9

(b) 13

(0, Q'

(d) 43

ffafgs e (TReM) & oy W fEW
Hifsre -

3P + 4P + PP + PP = RQ2; W&l P, Q @41 R fir=
3% 3 |

3 Tt GWTeT ANTHA! T THTAL HIET FT & ?
(a) 102

(b) 120

(c) 202

@ 220

frffaa e (afeefemrem) &y ® fa=m
HIfT

(PQ) x 3 = RQQ, 5T&l P, Q 3N R firar 37 & 3f
R¢O%I
(P+R) +
()=l

b) 2

(c)
(d)

QFTAH TR ?

5
Tyt sffeel % R fFulfa T8 frn
ST Hehal
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53. Jay and Vijay spent an equal amount of|57. At which one of the following times, do the

money to buy some pens and special pencils of hour hand and the minute hand of the clock
the same quality from the same store. If Jay make an angle of 180° with each other ?
bought 3 pens and 5 pencils, and Vijay bought (@) At 7:00 hours

2 pens and 7 pencils, then which one of the

following is correct ? (b) Between 7:00 hours and 7:05 hours

(¢) At 7:05hours
(d) Between 7:05 hours and 7:10 hours

(a) A pencil costs more than a pen

(b)  The price of a pencil is equal to that of a

pur 58. In an objective type test of 90 questions,
(c)  The price of a pen is two times the price 5 marks are allotted for every correct answer
; of a pencil and 2 marks are deducted. for every wrong
(d) The price of a pen is three times the answer. After attempting all the 90 questions,
price of a pencil a student got a total of 387 marks. What is the
; number of incorrect responses ?
54. P scored 40 marks more than Q in an
examination. If Q scored 10% less marks than (@) 9
P, then how much did Q score ? (b) o A&
(a) 360 QX
(b) 380 (d)n.743
(¢) 400 59. “Consider the following addition problem :
@ 420 \Q&Q 3P + 4P + PP + PP = RQ2; where P, Q and R
55. A person P asks one of his friends X as are different digits.
to how much money he h replied, “If Y What is the arithmetic mean of all such
gives me ¥ 40, then @ll have. half of as possible sums ?
much as Z, but if Z me T 40, then three (a) 102
of us will have eq amount.” What is the ®b) 120
total amount of money that X, Y'and Z have ?
(a) T420 0,
(d)- 220
(b) ¥ 360
© %300 60. Consider the following multiplication
problem :
¢ A0 (PQ) X 3=RQQ, where P, Q and R are
56. In a code language ‘MATHEMATICS is different digits and R = 0.
written as ‘LBSIDNZUHDR.’. How is What is the value of (P + R)+Q?
‘CHEMISTRY written in that code language ? G 1
(a) DIDLHRSSX ®) 2
(b) BIDNHTSSX (¢ =ib
(c) BIDLHTSSX (d) Cannot be determined due to
(d DGFLIRUQZ insufficient data

BXC-B-GYLI (35-A)
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et 2 (1) svaron & forg A3
719 f2v 77 3t 9R=Bel #I 9ieT IR =gl F 9
7 T I & I T | 37 e F g
3M9F I AT 34 TR=sel W & maika &7

FIRY /
ufese -1
FIT HI Alhdd " GHT T HeATIHRI
TSI 81 & 99 Gahdl 8 ? 99 Hedvl hl Q0 F9 F
IR W R AE BIST 1 Ghdl 8 ? SR 3R
AFdd & o9 IidHied adE faRmE | SR
Th-eAfh-Uh-Ad (d1e) W fagia w wE TE R g,
a1 % Ahdd § 211 @ | IS St TR 8 F& |
qrdT ®, I8 IGH! ST, v, HA-WE q°r AT
aﬁtw@ﬁmmﬁﬁtm%lmwﬁﬁ%
T 3 e 1 Sfdker 24§, ST wgd & «ni
F AN F FEe e ¥ W ot 331 9 g,
fihq F© ANl 1 W@ Bl » o % forg 4R
e B TE et aran B, SR # e @i 7 W@
i wT: 9Ed e B @ S Sgd e Bd 8
1G] T BN (TeRld B W BB FHI AT
%lmwﬁmqﬁamw@aﬁ%ﬁ
geEal w HEd 8, T ‘{*%@ q
éﬂmﬁ%@zmm&ﬁmﬁl&

WW%@@%@@W
TS T B -

¥ @Emmﬁmmﬁ%ﬁw
2 aif 3 FeauEEHl TST oH T |

9. Ahaal Wl IWEL SR % forg SAevE
Tt anfeler i i ST T #id 8 |

3. anffes e # d® g U @ % fog
T AT <hl ITaTIHT 8 |

swds § ¥ eMft qeenen/gEeend J=

?/2?

(a) . ohadl 1 3R 3

(b) e 3

(c) had 2 3R 3

@ 1,23MW3

BXC-B-GYLI

(36—

ufesg -2 .

T fraeEt #, W o s W
ffeeh, Thm MR sfae@ don AR TE W FD
T 2, 37 9N U G4 $B Ted 8 8 S A
HTavaehal 2 | fohg I 79 3% W H AW H
TE o Sfase N Feawe F a1 H, g YW
% wgd 93 o # afed F9 A g@ F
geaftormt & sR §, Afgensti & gfd degsfican
(et dRiRfE) & W H) fohew & w9 A
frfvararg & awre, 3 % SR § fan <@
& 298 oft 3a € wewqul 2 fo6 N BH 3% T
geq 1 fen 3@ # wtwEr 3% ew ffshd
TR TR S UEm s il fuem @ ® 2
foemem 6 wga (Fige) R § e,
s B, fore/ el = ot favafarme™
1,397 g # arar/ardt @ | 7w 9w foem,
gurat it feemumst & gg ® & Siar/Srd
2 | g8 wHhuw 4% fou FEgrRh & w1 B,
@y Y ot T wEm W % fom
FdlcaTea o T R |

62. Frfeifga § & w41 %o I9gw IR=a &
T fareme &1 waiaw &9 & g9ar & 2
(a) Toemer wressn s= 3 sifSwreshi H
sl % IE TE B |
it ITafetrll W ot o4 & Afhead 3R
Hve % e % forg om fierar 8 |
T= H g AT s * fw dEw
w1, e wwaen H g @
e |
YgR AT o4 % fog, adum fava
wae v fwmarg &l
gt o Sfaa-araes S 6t 7 ot
HA 2 |

(b)

(c)

(d)

A)
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Directions for the following 2 (two) items :

Read the following two passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

Passage - 1

Can a democracy avoid being a welfare state
for long ? Why cannot mass welfare be left
entirely to the markets ? There is a built-in
tension between markets and democracy.
Markets do not work on a one-person-one-vote

principle as democracies do. What one gets out of

the market place depends on one’s endowments,
skills, purchasing power and the forces of
demand and supply. Markets reward individual
initiative and skill, and may also lift many from
the bottom rungs of society, but some people
never get the opportunity to develop skills that
markets demand; they are simply too poor and
too handicapped; or skill formation takes too
long. By creating jobs, markets may be able to
help even unskilled people, but capi m has
always witnessed bursts of unempl&&sent.
&

61. With reference to the e passage, the
following assumptions been.made.:

1. Modern dem cies rely on'the market
forces to enable them. to be welfare
states.

2.  Markets ensure sufficient economic
growth necessary for democracies to be
effective.

3. Government programmes are needed for

those left behind in economic growth.

Which of the above assumptions is/are
valid ?

(a) 1and3only

62.

Passage - 2

In our schools; we teach our children all that
is there to know about physics, maths and
history and what-have-ydu. But do we teach
them about the bitter caste divide that plagues
the country, about the spectre of famine that
stalks large parts of our land, about gender
sensitivity, about the possibility of atheism as a
choice, etc. ? Equally important, do we teach
them to ask questions, or do we teach them only
to passively receive ‘our wisdom ? From the
cocooned world “of ' school, suddenly, the
adolescent ﬁnds himself/herself in the unfettered -
world of university. Here he/she is swept up in a
turmoil of ideas, influences and ideologies. For
someone who has been discouraged from asking
questions and forming an opinion, this transition

can be painful.

Which one of the following statements best
reflects the central idea of the passage

given above ?

(a)  School curriculum is not compatible with

the expectations of children and parents.

(b) Emphasis on academic achievements
does give time for development of

personality and skills.

(¢c) Preparing the children to be better
citizens should be the responsibility of

the education system.

(b) 3only (d) To be a better citizen, the present world

(¢) 2and 3 only order demands societal and life-coping

@ 1 8mds skills in addition to academic content.
BXC-B-GYLI (37-A)
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63.

65.

66.

67.

BXC-B-GYLI

" fog P, Q 991 R T & @1 W 39 THR
i PQ:QR=3:528 1IR PQ:PR&
Wﬁﬁﬁ@n%,?ﬁn%&%iﬂﬁ(%?
@ 1 -

() 2

(e). 3

d 4

T fomm (TS 91E) W T WY 9y Y e
T foerolt W 6 AT 9t I fohan faftm wehr
q =afiq forn s gepar 8 2

(@) 4 :

(b) 6

(e). &8

(d):- 12

f=2 fou T ww fopedi & @ ©H fawew @
e a7 fw Tl () ®I 38 a@ W arfe
Iz Aoft, us fafdre a0 1 g |

(a) bababa
(b) baabba

(¢) bbaabb Q
d) ababab g\

e
IFh k TTH 2, 2 @3@9@!’1%
§T, 30000 & FSt HEAIE &9 "ehdl
&2 N
(a3
(b) 6
() -9
@ 12
Fr=ferfaa oAt w fomm Hifve .
1. 5 SAATI QUIThi ST ANTHA 100 & Hehal
2
2. o HEATE AUl w1 UHRA IR
ANTHA % ST & Gehal B |
I HEA § A BT/ T R/E 2
(a) had 1
(b) et 2
(¢) 13 23
(d T@LAE2

S

68.

69.

70.

(38-A)

(a)

1m ST ST U B 9T S § G0 HU g
| 35d fopaq fforefiet et @ (amt <1 Aieg =i
TOT qH) 2

(@) 1000
(b)
(¢ 100000

(d)

10000
1000000

T Ufth # 6 AT & | Wh 3T Ak @l 30 |
3 =afwdl & 39 yhR e fier R f6 ag @
HAT ARl & Bw e e | @ e
o gy Tl | g1y e S g § 2

(c)

3
(b) 4
5
(d 6

WW@A,BWC%Wﬁp:q:r%
Irura o foafa 1 7 |
frafafga sl | famm Hifve

1. TR p, (q+r) ¥ ARE &, @ A W
Jfereran 391 frerm |

2. AR, (p+q AFAE, @ C H A
3 fore |

30k HUAl § | HH-A1/HH-Y T 2/F 2
Fad 1

(b) Had 2

(© 13 23H

A LAR2

(a)

(d)
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63. There are three points P, Q and R on a
straight line such that PQ : QR =3 : 5. If n is
the number of possible values of PQ : PR, then
what is n equal to ?

@)=z 1
()2
(c)-x 8
a 4

64. On a chess board, in how many different ways
can 6 consecutive squares be chosen on the
diagonals along a straight path ?

(8) -4
(b) 6
© 8
d 12

65. In the series _b_a_ba_b_abab_aab; fill in the
six blanks ( _ ) using one of the following given
four choices such that the series follows a
specific order.

(a) bababa

(b) baabba .®
(c) bbaabb \\Q
(d) ababab &Q‘

66. Using2,2,3,3,3asd , how many distinct
numbers greater thﬁ;) can be formed ?
(a) 3
(b) 6
e) -9
(d 12

67. Consider the following statements :

1. The sum of 5 consecutive integers can be
100.

2 The product of three consecutive natural
numbers can be equal to their sum.
Which of the above statements is/are

correct ?

(a) 1only

(b) 2only

(c) Both1land2

(d) Neither 1 nor 2
BXC-B-GYLI

68.

69.

70.

(39-A)

A cubical vessel of side 1 m is filled completely
with water. How many millilitres of water
is contained in it (neglect thickness of the
vessel) ?

(a)
(b)
(c) 100000
(d)

1000
10000

1000000

There are 6 persons arranged in a row.
Another person has to shake hands with 3 of
them so that he should not shake hands with
two consecutive persons. In how many distinct
possible (combinations can the handshakes
take place ?

().~ 3
(b) 4
(0 5
(d 6

An amount of money was distributed among
A,Band Cintheratiop:q:r.

Consider the following statements :

1. A gets the maximum share if p is
greater than (q + r).

2. C gets the minimum share if r is less
than (p + q).

Which of the above statements is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1and?2

(d) Neither 1 nor 2
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Refefaa 3 (@) saren & forg g -

#9 v T 3t wR=q # 9T ik TR=BT F 9
I FIGT TR & I AT | 37 e & o
N9 I Fad 3 R=Be W & Sk &
T / '

- ufese -1

weg e S 9 % S a6 age
% foe wm Al (e W) & @adl =1 Sifew
3314 F; 1591 varedt H, goh Ui ATl YTt
RIS 3 T Al S ot R wEet B @
# oftfeq fawa i diwet @ @ amn H
UfETiaes gft @ <@ ot guen ganeEl f @ &
e Hl @9 HE F o I w R | T
3 fomar FA9R I & | 9 R 9R Hed A
& siafeg F YE FE H R%—
ﬁté‘a‘rﬂﬁwﬁﬁﬁﬂfﬂ'@ﬂ 71

Q

71 Freffan § @ SR Fe I it w
JFaH AR B ?

() Topelt oft Al s 1 erfieh Sew o
&1 G HET Bl 2 |

afke Al wieft erefeyaren w1 fREfa
HUT, =R 98 41 Hed § faemm fafe
Bl ST AR e |

I8 geua: e gfawar & faw =8
&Sl W A o fow I B # |

FS AN & NEGH o4 H FaER & 9

(b)

(c)

(d)

G T IAUR BT 2 |
BXC-B-GYLI

(40 -

U 3o faiw vifeufe =t Sew, w& @
e § fs @i Erft, IH-EEe |
T TAd & | T8 a b gaile gorard
TN GWEG: 9gd @R @ sie 8, fR
ardf-fowre (o) omed mmn w1 @han B
S T § 5o O A e g 2, W
HAAY Fren-guen gl g |7

72. 39 UR=sg % YW oW H, fhw famm w1 sgw
frmmn g 2

T i & F9Y | Hegufd
T o & GaY | FEgAfd
T dieH & Gy § EgAfd

T dieH ¥ B9 arefl g % Hey §
STEgHfd

(a)
(b)
(c)

(d)

73. Tefafed # @ HH-H ga 30 @i § sgan
g St 2 2
(a) ¥ 3N 3\ i fufda e
e I FHA & 91y i fafda s
a1 e
e %1 |9qUl foura

(b)
(c)
(d)

A)
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Directions for the following 3 (three) items :

Read the following two passages and answer the
items that follow. Your answers to these items should
be based on the passages only.

Passage - 1

Medieval merchants risked the hazards of
the Silk Road to reach the markets of China;
Portuguese caravels in the 15t century sailed
beyond the bounds of the known world, searching
less for knowledge than for gold and spices.
Historically, the driver for opening frontiers has
always been the search for resources. Science and
curiosity are weaker drivers. The only way to

open up space, whether the space of solar system

Passage - 2

5 most people would agree that telling
deliberate lies is wrong, except perhaps in certain
special situations where more harm will be done
by telling the truth. Even the most truthful
people probably tell a good many more lies that
might be regarded as semantic lies; their use of
words contains some measure of falsehood, more

or less deliberate.”

: . . |72.. The-idea which the first part of the passage
or interstellar space is to create an economic
engine and that engine is resource extr@ion. RGRiIng
S\\Q (a) agreement about telling lies.
> |
\QQ). (b) disagreement about telling lies.
11 iR e e fQ@ Ing StEyMeRts best (c) disagreement about telling the truth.
sums up the passa§ given above ?
(d) disagreement about the harm in telling
(a) Wealth generation is the primary motive the teuth
for any human‘endeavour.
(b)  Space, whether space in solar system or |73, Which one of the following habits is found
interstellar space, will govern our future more often in good people ?
economy.
(a) Mixing up the true and false
(¢) Human beings are motivated to explore
né foiitiers peitetbally by ecimomie (b) Intentional mixing up of truth with the
false
considerations.
: : (c) Falsification of facts
(d) Wealth generation is based on the
risk-taking behaviour of some men. (d) Complete concealment of truth
BXC-B-GYLI (41-A)
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74. TH JARE (I8 IR@), AFE W § WA, FA

75.

76.

BXC-B-GYLI

AT 3] Y Al & Ffowrdar foraror @ g@tan
? | 78 fon R fo6 9 169 @ @t St 70%
2 | 3 WA qo 3= T O — el B
et p% 2, A qAR@ H p # fEf| F@
e Prrgs (F9eR) 1 HF i fhaan 2 2
(a) b4°
(b) 96°
(© 108
@ 120°

E% FAS § I&AF 59 o7 I B, ' U
249 T smar 2, St gia g3 94 feq wman
? | 3fe wft 1 foreft dfoam ot oo | fired, @
3 fH 7 Fow | fopm fom faetd 2

(a) HHAR
(b) FHAR
() TEeafdar %Q&
@ WEr &g

NS

N
2.3 el HEa e T i e
TR §ed el AT HT IR
547 |
Frafafaa st wfEm Hifu .

1. 39 GEAT % I bl 1 ATHA hael aHft
Fpren S gar 8 S SFl A I
TUF%A 14 & |

2. 39 GEAT % gHI 3l % o9 & T H
Frenrett s EwRar 2 |

I ol § @ BT /A T 2/ 2

(a) had 1

(b) HaA 2

(¢) 13 23

@ TAM1L,T82

71.

78.

79.

80.

(42-A)

(b

X3 Y ¥ ®a, “Omuh 99 H g qh oy

H9h! FaaH g h g oft 1”7 IR x A

FauH g 42 99 B, @ Fafafea s w

forem Hifs

1. 8% Ugd, X it 7Y, Y A g A uiw
TorT off |

2. ;ﬁa&m,xaﬁang,sr?ﬁangﬁggﬁ

|

30 woEl ¥ /A T 28 2

(a) %ad 1

(b) had 2

(¢ 13K 2gHt

d TJ@LAH2

afe foreht a6g % o o 20% g1 Fra1 § ok R

TG | 25% ghg Bl &, q e § T uiada

foaT gam 2 2

(a)r 0%

) 5%3fg

(c) 5%%7HE

@) ST dAfesl & wrur Ruifa @& e
ST Hehal

e fereft ffeea @ =6t 7 @ om foran S, @
TUHGA § U 9 § Fad Th HT 3 (1111...)
A waTfE g @ | UE Agan ge s R 2
(a) 15713
15723

() 15783
(d 15873

s s foret R % 7/8 3w @t 21 fA A @@
w1 § | A SR fi wmn & 50% Hi oIy @
ST, @ 3 39 HE B FEE HE A fhaw =
3R 7 2
(a) 24
(b) 21
(). 18
@ 15

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

74. A pie diagram shows the percentage|77.
distribution of proteins, water and other dry
elements in the human body. Given that
proteins correspond to 16% and water
corresponds to 70%. If both proteins and the
other dry elements correspond to p%, then
what is the central angle of the sector
representing p on the pie diagram ?

(a) b54°
(b) 96°
() 108°
(d 120°

75. Joseph visits the club on every 5% day, Harsh
visits on every 24" day, while Sumit visits on | 78
every 9! day. If all three of them met at the
club on a Sunday, then on which day will all
three of them meet again ?

(a) Monday ®
(b) Wednesday S\\Q
(¢) Thursday §Q§
(d) Sunday Q\Q%'
§ 79.

76. The difference betv%en a 24digit. number and
the number obtained by interchanging the
positions of the digits is 54.

Consider the following statements :

i The sum of the two digits of the number
can be determined only if the product of
the two digits is known.

2 The difference between the two digits of | 80.
the number can be determined.

Which of the above statements is/are

correct ?

(a) 1only

(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2

BXC-B-GYLI (43-A)

X said to Y, “At the time of your birth I was
twice as old as you are at present.” If the
present age of X is 42 years, then consider the
following statements :

11 8 years ago, the age of X was five times
the age of Y.

2 After 14 years, the age of X would be two
times the age of Y.

Which of the
correct ?

(a)
(b)
(c)
(d)

above statements is/are

1 only

2 only

Both 1 and 2
Neither 1 nor 2

If the price of an article is decreased by 20%
and then the new price is increased by 25%,
then what is the net change in the price ?

(a) 0%

(b) 5% increase

(c)
(d)

5% decrease

Cannot be
insufficient data

determined due to

When a certain number is multiplied by 7, the
product entirely comprises ones only (1111...).
What is the smallest such number ?

(a) 15713

(b) . 15723

(c) 15783

(d) 15873

A man completes 7/8 of a job in 21 days. How
many more days will it take him to finish the
job if quantum of work is further increased by
50% ?

(a) 24
(b) 21
{c)- .18
@ 15
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T.B.C. : BXC-B-GYLI Test Booklet Series

TEST BOOKLET

GENERAL STUDIES
PAPER - II

Time Allowed : Two Hours Maximum Marks : 200

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN/OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.

This Test Booklet contains 80 items.(questions). Each item is printed both in Hindi and English.

. Each item comprises four resp answers). You will select the response which you want to mark

on the Answer Sheet. In ca u feel that there is more than one correct response, mark the
response which you conside% best. In any case, choose ONLY ONE response for each item.

You have to mark all ym\@esponses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet. Q

All items carry eq rks.

Before you proceed\tb mark in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should-hand over to the Invigilator only the Answer Sheet. You are permitted to take

away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

ST Q : IR BT fal TUTR 36 JITehT o JoH U8 W B9 R |

BXC-B-GYLI (48-A)

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

